313‘11111—[:%7&

N ‘ﬁﬂa’mﬁﬂ}ﬂl‘%:
(A) T o AN
(C) TR (D) 'weh
, 3 R wedt # A ww-w areg stvaedt 2
(A) R “AB)
(C) &= (D) -
5, A Ry ol H X wa e ‘ot wataareh wE 27
(A) (B) g
(€ T © (D)
4. e o= R T WA W wee
(A) feeri (B) A==
(C) =T D) s
5. SR 9 ———— wA R
(A) HIEET=S® \AB) T
(C) T ga=SH (D) SfaaT=s
6. AA-TA T e B \
(A) & (B) wdam
(© =7 (D) faseor
7. ‘G 9Teg T AgAA 8
(&) (B) hell
(C) weH (D) el
8. ‘gtem surar = a4 & |
(A) asiafg & \NB) Tt G
(C) s A (D) fraga wn
9, ‘mmﬁﬂt@ﬁm’wmm?z
(A) FFaERard e (B) W& &
(C) wed & T A D) T TR TR gy
10, gz e Bifed:
=5 (@) e | (
() wEw D) wfe |
(C) werEgal

3
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%mﬁﬁﬁﬂmmmmﬁ%ﬁﬁg\%éﬁﬁmﬁ-mﬁmﬁﬁaﬂmﬁﬁﬁ

. STT=3% & wiw A firgdt gl e 8, i
(A) m@wmwﬁaﬁ%.
(B) sm%mm&rﬁmﬁm‘@?ﬁ%a
(C) amaﬁaﬁnvﬁwﬁﬁ—nﬁﬁmﬁ%l
(D) W%mmmwmmm%a
12. é%aaaa?:mﬁimiﬁaﬁr@?amm‘%
(A) Erﬁ%sﬁaqﬁm’asﬁanrén
(B) aﬁaﬁrmmaﬁaﬁﬁwaﬁgﬁm
JC) aﬁeﬁmmmsﬁmmmﬁl
(D) e@ﬁvﬁﬁmwmmmm|

13. T H ﬁﬁaﬁwmm?ﬁmm%?

N0 2 i A A R ©) 3 s st st o E
(C) %mmaﬁﬁ%@aﬁﬁl (D) %mﬁmﬁaﬁ%ﬁ e

14. 3@ wg=de § ‘wiew Jen’ = ad 2-

JA) T F aHg (B) mxawqaatrg:a
(C) 4gug wg ‘ (D) 3Eg Ty

15, oITedT § AEH N oo %ﬂﬁmﬁ,m.ﬁ%ﬂwuﬁﬁm&m%n
(A) wq (B) st
SO wfw (D)
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Section — Il: English

ion to complete the passage/sentence.

1 jate opt
- Answer Q.16 to Q.19 by choosing the appropr! (Q.17) a curious mixture of varied

; ADES, oo ;
Man ...... (Q.16) is belicved to have evolved fro™ ap (6.19) also their reator. He alvo sesks to
motives. He is not 0, 1]y G (Q.18) subjects of needs .-

satisfy his needs and caters to his desires-

16. (A) which (B) when
AE)  while (D) who
17. (A) am (B) are
C) is D) has
18. (A) to (B) the
©) a ; (D) an
19. (A but | (B) and
(C) to (D) the

20. Convert into passive voice _ T
“We must face the new situations with a creative mind.”
(A) New situations need faced by us with a creative mind.
(B) New situations must face us with a creative mlnfl. _
(&) New situations must be faced by us with a creative m'md. _
(D) Everyone should face the new situations with a creative mind.

21. Give a word most similar in meaning to the word ‘exhorting’?

(A) urging \(B) supporting
(C) demanding (D) clarifying
22. Opposite meaning of the word ‘seeks’ is -------- :
* (A)/ deplores (B) avoids
) vanishes (D) approaches

Direction : Which option fits best in the\glanks in Q.23 to Q.25

23. I ---------- we should accept the offer.
\_KA) think (B) will think
(C) should think (D) would think
24. Neither he nor his servant ---------- g
~ (A) leave (B) have left
\p/ﬁas left (D) 1isleft
- 25. My sister is ---------- than I am
(A) more stronger (B) most stronger
AC) stronger (D) strong

Give one word for the following phrase -

26. Ong who eats everything

) ?mnﬁpc.)tent (B) insolvent
(C) irresistible (D) omnivoroug
S

[P.T.O.

Scanned by CamScanner



i ce in indirect speech.
Select the alternative which best expresses the same senten

27. He said, “can you sing?” and 1 said, “no”.
(A) He asked me that could | sing and I refused.
(B)  Heasked me if I could sing and | replied that I could not.
(C) Idenied, when he asked me if you could sing,.
(D) He asked me if I could sing and I said no.

Read the following passage carefully and answer Q.28-30.

The Aryans were keen hunters and caught lions and hunted boars with dogs. But their fa'Vourite
sport was racing in chariots drawn by swift horses. After the races, they had open-air dancing and
singing. Like other ancient people, they worshipped at first many Gods of the storms. For a long
time their chief God was Indra. As centuries passed and the Aryans settled and developed their
farming and trade in the conquered lands, the people became divided into four main castes, the
Brahmans, the Kshatriyas, the Vaishyas and the Shudras. The duties of these four groups were
described in ancient laws called the ‘Manu Samhita’ or the Laws of Manu.

28. The favourite sport of the Aryans was

(A) hunting (B) chariot race
) horse race (D) dancing and singing
29. For a long time, the chief God of the Aryans was
(A) Sun God ~ (B) the God of Storms
~NC) Indra (D) God of Sky
30. Who helped the Aryans in hunting?
YA) Lions (B) Dogs
(C) Bears (D) Their God
6
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Directions: For cach question (Q-
which only one is correct. You :

fr¥er : wrs WA & forg (9.4
v @Et B ATUH! TE I AR

31.

33.

34.

35.

36.

37.
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Section — 111 : Mathematics

aqﬁm_m:nﬁm

are

Which of the following is no! true?

(A) 8/7+3/8=3/8+8/7
(B) 8/7x 3/8=3/8x8/7
(C) 8/7/3/8=8/1x8/3 '
(D) 8/7-3/8=3/8-8/7

The product of a non Z¢€ro rational number

and its reciprocal 1§ =========- :
(A) 1

(B) 0

(©) rational number itself
(D) reciprocal of rational number

Square of which of the following number

will have 6 at its unit place?

(A) 38 (B) 24

() 32 (D) 45

How many natural numbers exist between
the squares of 28 and 297

(A) 30 (B) 58

(C) 56 (D) 60

The value of ﬁgg +J§l- is :

(A) 5 B) 6

©) 7 (D) 8

Which oné of the following will have cube
root ending with 37

(A) 35937 (B) 46656

(C) 39304 (D) 50653

0.04 x 0.04 * 0.04 =7

(A) 0.064 (B) 0.00064

(C) 0.0064 (D) 0.000064

Nos. 31 to 65) four possible choices have been gi
to select the correct answer and fill in the OMF%wlfmtout of
sheet.

Slﬁﬁsm)wwﬁﬂwﬁm&qw o
sigra e § W Bl % o S

forr # @ &9 @1 gew T8 27

(A) 8/7+3/8=3/8+8/7

(B) 8/7%3/8=3/8x8/7

((C) 8/7/3/8=8/Tx8/3

(D) 8/7-3/8=3/8-8/1

e - TR HE T T 2 F
qUrEe BT @

(A) 1

\Bro

() e den =

(D) ufer dean 1 G
ﬁmﬁaﬁﬁa@i@%aﬁﬁm%w

9 6 B ?
B 24

(A) 38
(C) 32 (D) 45

sy 3R 290 & @ & $r frat WIFHaS
Fed f&ra €7 ’
\x) 30
(C) 56

/256 ++/81 1 M T
(A) 5 (B) 6
ey 7 (D) 8
36. Ao i frg e & YA B OTPR 3
Brn ?

31.

32.

33.

34.

(B) 58.
(D) 60

3s.

(A) 35937  (B) 46656
L4€) 39304 (D) 50653
37. 0.04 x 0.04 x 0.04=7?
\¢A) 0064  (B) 0.00064
(C) 0.0064 (D) 0.000064
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38.

39.
40.

41.

42,

43.

44. -

45.
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T
he least numper by which 81 be divided
to make a perfect Cube is

(4) 1 B) 3
€) 2 (D) 4

The standard form of 12300000 is
(A) 1.23 x 1¢®

(©) 1.23 x 107

---------

o

(B) 12.3 x 108

D % 10°
Zx (22 =9 (D) 1.23x 10
(A) z7 B) 7’
cy z* (D) 7*

If a family of 10 persons purchases ration
for 15 days and five guests join the family

from the first day. How long will the ration
last?

(A) 15 days (B) 12days

(C) 10days (D) 8 days

If the distance travelled by a rickshaw in
one hour is 10 km, the distance covered by
the same rickshaw with the same speed in
one minute will be:.. ‘

(A) 250/9m (B) 500/9 m

(C) 1000m (D) 500/3 m

If Nidhi purchases a book of Rs. 500 and
GST is 12 per cent. She will pay Rs. ------,

(A) 60 (B) 560
(C) 640 (D) 660
If a number is increased by 30% and then

decreased by 30%, the net increase/
decrease percentage will be:
A) 9 (B) 4

' 1
(C). 16 (D)
The compound interest on Rs. 10 @ 10%

per annum for two years will be ==---==-=
(A) Rs.2 + .(B) Rs. 2.10 .

i, Pr@ g1 AT W

38. Fg wAdw
qaﬁtpfﬂﬂm‘i"l@m% """"" d
(A) 1 (&) =
(©) 2 Py 4 .
39. 12300000 T T’ﬂﬁ? &Y --"2";"108‘
123 %10 (B) 12.3 %
\{(g 123x 107 (D) 1.23 % 10°
40. Zx(ZH*=" 7
@wz' B2
(€ 2* \@3{(28 |
41. afe 10 St &1 T aRar 15 T @1 T
afear @ Rk ugw fed & 9iE AAE 3
13 ¥ 7 ay fea feq s ?
(A) 15f@ (B) 12f&A
\@j 10fm (D) 8fm
42. 3¢ wF faam 1 @ # 10 km T T A
® @ St Afy & 3@ R g uw e #
------- 73 A s
L(A% 250/9m (B) 500/9 m
(C) 1000m (D) 500/3 m

4. T R 500 7. 71 i o g whedh
R vEwm S w d 12 v @ @
SHE TR 39 fyr

L 60\ @360 = B
o 560
(©) 640 (D) 660
44 uﬁ.’fﬁm‘té@ﬁao%ﬁﬁm%aﬁ(
ﬁ?{?ﬂﬁm%ﬁwﬁwélm
W TG/ g )
W @) 4
(©) 16 D) 1
45. 10 &, W 10% Wﬁaa
K
TE IR e ¥ 2w
W 2% (®) 30,

(C) Rs.2.20 (D) Rs. 2.30

(©) 2.20%. \(/D), 230 %
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46.

47.

48.

49.

50.

S1.

52.

53.
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n 4 H 2_2¢
Which of the followmg is like 322°y*x*?

(A) 87° ><3v X r
(B) 62 ><6x x y?
(©) 8y~ ><4\ Xz
(D) 6z2x 37 x p

I\JM

. 2.3
The irreducible factorisation of 63z7y°x

(A) 9‘.213\

(B) 922 x Ty’ 2
(®) 922 x Tx x
(D) 322 % Tx x 3y°

3a  2b)(3a 217J_,,
| —=—=— ="
5 3 )5 3

3a?  2b? E_fl_z_,ﬂfi
@ S5 ®F77
9a2  4b? 9a® _4b>
© 55 O3
(2005)? — (1995)* =2
(A) 40000  (B) 4000
(C) 4025 (D) 40225

The area of a square is 9x* + 24xy + 16",
Its side will be:

(A) 3x—4y* (B) 3x-4y

(C) 3x+4y* (D) 3x+4y

If3x—4 (64 -x)=10, thenx=?

(A) 133 (B) 38

(C) 286 (D) 66.5

The present age of the father is three times
than that of his son. After three years the
age of the father will be 7 years more than
twice the age of the son. The present age of

the son i§ =------ years.
(A) 8 (B) 9
(©) 10 (D) 11

The sum of five consecutive multiples of 6
is 2040. Find the largest multiple,

(A) 420 (B) 528

(C) 456 (D) 450

9

46.

47.

48.

49.

500

51.

52.

53.

322°y’x* % WU 9g F1 }7

(A) 82> X3y x x*
(B) 6z x 6x% x 3
\(QfSy x4x' % 2
(D) 622 x 3x* x
6322 x Tl AESHE TGS - 3
Ay 97y'x
(B) 97 x Ty’ x 2x
(C) 92% x Tx X
(D) 32° x 7x x 3’
3a 2b\(3a 2b)_
(?‘“?)[Tﬂ"’
302 2b? 9a  4b2
B FF B 5y
9a 4b? 9a2  4b?
© 5~ P~z
(2005)? -(1995)2=? @ee
(A) 40000 (B) 4000
(C) 4025 ( (B) 40225
w al i AAed 9x +24xy+ 16)* 21
FEh! YT —omeemeev gt
(A) 3x-4* (B) 3x-4y
(C) 3x+4HA_4D) 3x+4dy
2 3x—4 (64 -x)=10,Mx="2
(A) 133 (BY'38
(C) 286 (D) 66.5
foan &t e sy g it g & = i
B T o =g e & oy g oI F
TR A 7 o s Bl g a?ﬁrm
Y --oeeeeem T B
(A) 8 @B 9
€) 10 D) 11
6 % Ui FARE ST F AN 2040 B
QT o w1 Fifg L
(A) 420 A«B) 528 |0 ,'-I\SD
(C) 456 . (D) 450 e
*% [P.T.O.
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54,

SS.

S6.

57,

S8.

S59.

60.

61.

P
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15 added ¢ F 15 Sied T 54 9
o © the product of y and 13 give us | 54 2 13 Iiﬂl:{cﬁal
he value of pic- | T T L e Eﬁml
(A) 2 - g 31y F A
(B) 69/13 (B) 69/13
(D) 4 \{(ﬁ) 3 (D) 4 2
The fom-a 3:4:5:6 a; 3@‘1’1’6
ratig OfB-;-?ZS of a quadrilateral are in the | 55. T4 & TR F Sl
A) 160 e largest angle is &) e Sl P =
©) 1 50 180 (A) 160 ) 80
In a quadrilatera] 7 B = 6 cm
CD = 8 cm d ABCD’ AB = 6 cm, 56. Qﬁ ?ﬁjﬁﬁ ABCD A ’
a ;
180°. This js n "M of angles A and D is CD = 8 cm #R @M1 A ¥R D F AW
'''''' 180° 21 7E FGHAT --------- €|
(4) parallelogram (B Try, ¢l e :
(C) rhombus =y pezium (A) =R A ) GHH
One of the diagonaj quare (C) |waEgy (D) &
to its side. Tt 1§r;as o @ thombus i equal | 57. 7% v Fwwqd # ww et @R g
. €r angle is:
(A) 120° (B) 90,g s F EHEL %l EGETRCE) 01 1) (R @T]T[
©) 60° (D) 160° EA) 120" LBy 90°
. C) 60° (D) 160°
The diagonals of a rhombus
. are 5 cm and 7
cm. Its area will be -------- cm?. 8. T Hﬂ?@‘ﬂa % faof 5 cm 3 7 cm {
(A) 12 B) 17.5 FEH A ——re om? Fr
© 35 @ 70 (A) ;2 (B) 17.5
. 5
The area of the largest triangle that can be 5. =R L g 3]%]2 ) 70
fitted into a rectangle of the length L units AT : TSTS B THTE T} TS
and width B units will be ---------- units?. T O B A RECIES ﬁl‘ﬂ?ﬂ
(A) LB/3 @®) LB6 | o, T ?l
\AY LB/3 (B)
(C) LB/4 (D) LB/2 " (© LB LB/6
360 m® water is used to irrigate rectangular | 60. wF 49 (D) LB/
field of length 40 m and width 18 m. The A oy 3 R 18 m ;ﬁ:g
height of the water level in the field will be X o S s +
Ry g T )
--------- m. S
@) 05 (B 1 (A) 0.5 B | m By
©1s @02 DS D) o
If the side of a cube 1.s mcrease: tci tt-lree 61. T uw £ iy
times, itS volume Wll] becom m aTrqﬂ-a ‘‘‘‘‘‘‘‘‘‘ ﬂ?ur:n’ m a m t_h»
times. &) 6 ® ST
we B ©n ®o
() 21 ®) (D) 2
10
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62. The radii of two cylinders are in the ratio 62. T A iL &l [Elsmaﬁ I 1:2 R R
of 1:2 and heights are in ratio of 2:5. The ITH ATt 2:5 ¥ = g -
ratio of their volume will be: T oo g
(A) 1:10 (B) 1:8 (A) 1:10 (B) 1:8
©) 15 (D) 2:9 \ =2 18 (D) 2:9
63. How many cubic metres of carth must be | 63, TH 7 m & 3R 2 m =8 =iy AT Grex
dug to construct a 7 m deep well and F fou frat cubic ftex ﬁr@ Trey
diameter is 2 m? T ?
(A) 35 (B) 32 (A) 35 (B) 32
(C) 22 (D) 14 (C) 22 \U(b) 14
¢4. A dice is thrown two times. The sum | 64. T&H U@ &l @ IR ®Hel A@T 2| I§ |
of numbers appearing on the dice can FW AT GEAIEHAT F AN F WS QiR
T — outcomes. —— o ]
(A) 5 (B) 6 (A) 5 (B) 6
©) 11 (D) 18 \_A€) 11 (D) 18
65. The range of the following data is ------- 65. T el &1 RO —oemem 2l
_6’—89 3’ 2’ 134a 295 _6)_"8; 33 23 114! 2a5
(A) 10 B) 13 (A) 10 B) 13
©) 11 (D) 8 ©) 11 \D> 8
Space for rough work @ & & fore wam
1vE
Fa S
3
z.
\
36 ag
\s s
l-"-.-’--l
51 S84
11

" Download from www.MsEducationTv.com

[P.T.O.
Scanned by CamScanner




Directions:
only one is correct, You are ¢

Section — 1V : General Scienc€

For each question (Q. N
0 select

J|qET — 1V ; wrAT fawe
05. 66 to 100) four possible CI“)E\'IR sheet.

i of which
ices have been given, out
) g

3, foerit @ A TF TR

farer: wedre wow & o (w5 the correct answer and fill in
-H. 669 1 e Zepcd ﬁﬂ-m
21 HTTH T IR ey ELR . :1:::) ™ i
66. Lactobacillus 1S a/an —-e______ . el Yqerafaed TE - %I
(A) Bacteria (B) Algac o5, KR B - £}
©) P - () e (B)
rotozoa (D) Fungj (o ’ (D) FAH
67. - 1s used in SOWing. (©) STt i 2rat &l
(A) Sickle (B) Hg 67. e A AR AT i
oe R @‘q’mﬂl
o (C) Seed Drij) (D) Sprinkler Eg e fim Lf?) fesraRet
- Influenza is caused j
I human beings | 68 AT F FERACAT U oo & HRY
by <cene ' "3 -
(A) bacteria (B) virus ﬂ?ﬁn‘%l forerroy
(€) amoeba (D) fungys \?:)) St EB) L
- D =
69. :mallpox vaceine  was  discovered | 9, I war F fu 3?=)RﬁT-I &1 @
Y A ] D I
- Td
(A) Louis Pasteur (B) Robe
rt Koch -
(C) Edward Jenner (D) Fleming %i;?:_{ E[B))) ;f'c:ﬁjﬁ?
70. Which one of the following is a i
g 1s a thermo | 70 AR wifes
setting plastic? e i 52
A) Nyl T
(A) Nylon (B) PVC (A) AEerig ~(B) 9t &t o
(C)‘ Rubber (D) Bakelite - (O =3 (D) SFerze
71. Which one of the following reacts | 71, :

72.

73.

Download from www.MsEducationTv.com

vigorously with cold water?

(A) Sodium (B) Carbon

(C) Aluminium (D) Magnesium
Which property of copper is used for
making electric wires? |

(A) ductility (B) good conductor

(C) insulation (D) being solid

Which of the following is not a constituent

of petroleum?
(A) paraffin wax (B) lubricating oil
(C) coke (D) petrol

W) BT (B)
© wFfifmm (D Ay
72. m%'ﬁ,‘a‘ﬂqaﬂ :
S S ﬁ%ﬁmaﬁﬁ
(BT \4B) 53 grerss
(C) I9= (D) 3 By
73, ﬁmﬁﬁaﬁﬁaﬁa-maaﬁm

(C) =%
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74.

75.

76.

7.

78.

79.

80.

81.
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not a natural

Which one of the following 1s
resource?

(A) water (B) minerals
(C) soil (D) rayon

The black thick liquid with unpleasant
smell is known as -------nne=

(A) kerosene
(C) petrol

(B) coal-tar
(D) coke

Species is found exclusively in a specific
habitat.

(A) endemic
(C) endangered

(B) extinct
(D) fauna

The environmental impact of clearing large
patches of forests for cultivation of crops is
(A) soil pollution (B) soil fertility

(C) soil erosion (D) soil conservation

The leaves are green due to ‘
(A) ribosome (B) mitochondria
(C) chloroplast (D) chlorophyll

Which one of the following is found in

cells of plant, animal as well as bacteria?
(B) cell membrane

(D) cell wall

(A) chloroplast
(C) nucleus

e e e

Hen
(A) undergoes external fertilisation

(B) is oviparous

(C) is viviparous

(D) undergoes internal fertilisation

In amoeba reproduction takes place by ---.
(A) external fertilisation ' |
(B) internal fertilisation

(C) budding

(D) binary fission

13

74, foma @ @ 9 @1 wipfos o G627
(B) @fi=

\/Cﬂ)i'a"m

(A) 5
(C) 3«

(C) g )
76.@3%@?@%@%@%
qafare & T ST €l

enfm  (B) foa®
\%mw (D) wiforstmer
= e @ a A i A
7 qatagor o o ST usdn €l

w@ﬂaw (B)W%‘_a‘w
(C) &1 Ja<e (D) TR qEW

77.

(/aﬁaﬂa‘m' (D) quieRa

79. =1 # | T 9ey, aﬁqavﬁm{rgaﬁ
e § 9T a8

\Mﬁﬁaﬂﬁ (B) @i faeet
(C) F¥=F (D) Fifirer fifa

81.
(A) =T fam=e
(B) safte fe=m
(C) ggeA
-\ D) Tefasmsm
[P.T.O.
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82. Insufficient production of --------- in the | 82. EeeIcll e e 21
tadpoles lecads to their incomplete qf@d 31T1f ®
development. ) .
(A) thyroxin (B) insulin \/(4") W (BD) ﬂ
(C) nutrients (D) ducts (©) qredh < )
83. At the onset of puberty --------- is released | 83. dYaArEd A gl L Sty
by testes. BT %|
(A) thyroxin (B) insulin (A) gqaif@ad (B) ’iﬁﬂ_'m
(C) testosterone (D) adrenaline (C i (D) Q@Eﬁ%ﬁ
84. A gas filled balloon moves up|84. TF g A W T HIK LU ST §
because -------, Fifh:

(A) gravity force does not act on the

balloon
(B) there is no frictional force on the

balloon
(C) upward force on the balloon is more

than gravitational force
(D) upward force on the balloon is more

than frictional force

85. Two thermocol balls held close to each
other move away because Of -----meeee

force.

(A) magnetic (B) electrostatic

M)EWWWH%W
(B) 30 R Hé weur e TG A

(C) FHR Ft 3R A AT F [RATHYo
@ @ afies grar ® ‘
(D) FR H 3R R ATl el T T

aftw g @
-9 W et Y QW

85.

(A) T=6a  (B) &@

(C) gravitational (D) frictional N (C) Teearary oo
86. Wearing of cartilage in the body -----—--. 86. R # IaTfer & %t‘ﬂ:—l BHT SRR 7 ofur
friction. . 3
(A) increases (A)
(B) decreases ®)
(C) does not effect ;
(D) may increase or decrease \}(g e TRt
GT Thay
87. The handle of a cricket bat is usually rough | 87. fF¥e ¥ = o %i P
70 R  —
' T GREq
(A) get more run A) =IaT
(B) get ball on bat B) i’m””laaaﬁ; A - o
(C) decrease friction G T T W Y
(D) increase friction | (D) W Iemm
: . : 14 |
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88. If we increase the vibration in an objec! the
time period will -----—----
(A) increasc in same pmpm‘tiﬂl\
(B) increase in inverse proportion
(C) decrease in same proportion
(D) decrease in inverse pmpurlion

89. Ultrasound has

frequency of
vibration.

(A) 20 Hz ’

(B) between 20 to 20,000 Hz

(C) above 20,000 Hz

(D) less than 20 Hz

90. Iron is painted to
(A) give shiny appearance
(B) keep it for long

(C) save it from corrosion

(D) save it from electric current

91.

-————————

of the following is not good
conductor of electricity.
(A) Tap water (B) Vegetable oil
(C) Vinegar (D) Lemon juice
92. Earthquakes can cause
(A) Tsunami, Floods, Landslide
(B) Tsunami, Lightening, Floods
(C) Tsunami, Lightening, Landslide

(D) Floods, Lightening, Landslide
When you rub the back of a plastic pen in

your hair and bring it near a small piece of
paper it attracts paper due to

93.

(A) electrostatic force (B) friction
(C) magnetic force (D) gravity /

94. If the object is 5 cm away from the plane

mirror, the image formed by it and the
object will be

(A) 25
©) 10

gy, Afe frl oG H T gfy wgr €

FHFT ATAS BT oo 14
(B) TR THFATINE H wga
(D) FEe FHATTIE # e
g9, e At H qun foemate
2t 2l
(A) 20 Hz

(B) 20 3 20,000 Hz & #eg
\(C) 20,000 Hz & #ifersh

(D) 20 Hz & &A

90. g &l WM
(A) T8 THHIR AT
\B) z& wfys wwg 7 T
(C) T8 ReA | T4
(D) T 4Yd Fe ¥ I=9W
frafafga & @
AT el erdll
\fh) S T (B) T
© frm @) T
92. WHHT & TR —mmmmmmmmeee
(A) TR, aTg, EEe
(B) g, dfsq, =g
\@W,Hﬁﬂ,w

(D) 915, afeq, qEaem

V& AT UF Wifew W R fe d am
AW A TG AR FO DR gH F W
WA E AT I oo FFRO AT
AR el FAr Rl
(A) T 9, (B) T
(C) T= =@ (D) Tecreu
R wg Teg e q@w ¥ 5 ¥
& Ty g it i ok TGS

e

91.

93.

£y

94.

. G ©
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@ § gAad
AT
95. t-gak % IHE K

95. A ray of hghl can be rcﬂected .......... mu-[ -----------
times by two plane mirrors placed parallel giort gra W ?ﬁ,aﬁ%
and facing each other. e gafda 2l aehdl el
(A) 2 (B) 4 a3 (B) 4
©) 8 (D) infinite © 3 B I
96. Planet Venus is also known T LTI S i — ot @ed 2l
(A) Pole star (B) Moming star + TR (B) G
"y (A) ya ard
(C) Star Sirius (D) Jupiter
97. A star is f : e, (Cyififera A (Q) 3
is -lfteen light years away from | 97 T a1 gzt @ g Tl Fd T e
carth. The light emjtteq by it today will pe | TWEH gRT T AR WHIA e
seen after weeee____ ,
i - e foard &
(A) 5 (B) 10
(A) (B) 10
©) 15 (D) 30 \@)15 (D) 30
98. Tree Plantation mong of July/August | 98, Wit e / srred < dH R AT ATe
€very year is known as ——eeeme T e FEdTar 2l
(A) van Mahotsay N AA) 7 Aerewd
(B) plantation month (B) dient =7 1R
(C) forest conservation month (C) 99 & wre
(D) wildlife month (D) T I AT
R 1 responsible for acid rain. 99.  weeeeee- 37 Al & T IEREEY )
(A) Carbon dioxide . ! (A) FTeH 33T
(B) Sulphur dioxide \(B) TR SIZ3TFTIS
(C) Carbon monoxide (C) w7 AtsriaaTze
(D) Chlorofluorocarbons , (D) FARFAARIFT
100. Which of the following groups contains all | 100, fr=fifga Tl # ¥ Fad gofg
' synthetic substances? ' QT ®?
(A) nylon, terylene, wool (A) T, Sef, o
(B) cotton, polycot, rayon . (B) =99, q'fﬁ»m“z, Wi
(C) PVC, polythene, bakelite A C) qt <t 'Fﬁ, qi'Fva\'t’T-’{, a'aﬂ'r_:_a
(D) acry]ic, Silk, wool \({5) Qﬁ’?ﬁfﬁ, }am’ £

Space for rough work ® W
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